Chapter 23

Work, Energy and Power - Grade
12

(NOTE TO SELF: Status: Content is complete. More exercises, worked examples and activities
are needed.)

23.1 Introduction

Imagine a vendor carrying a basket of vegetables on her head. Is she doing any work? One
would definitely say yes! However, in Physics she is not doing any work! Again, imagine a boy
pushing against a wall? Is he doing any work? We can see that his muscles are contracting and
expanding. He may even be sweating. But in Physics, he is not doing any work!

If the vendor is carrying a very heavy load for a long distance, we would say she has lot of
energy. By this, we mean that she has a lot of stamina. If a car can travel very fast, we
describe the car as powerful. So, there is a link between power and speed. However, power
means something different in Physics. This chapter describes the links between work, energy
and power and what these mean in Physics.

You will learn that work and energy are closely related. You shall see that the energy of an
object is its capacity to do work and doing work is the process of transferring energy from one
object or form to another. In other words,

e an object with lots of energy can do lots of work.

e when work is done, energy is lost by the object doing work and gained by the object on
which the work is done.

Lifting objects or throwing them requires that you do work on them. Even making electricity
flow requires that something do work. Something must have energy and transfer it through
doing work to make things happen.

23.2 Work

Definition: Work
When a force exerted on an object causes it to move, work is done on the object (except if
the force and displacement are at right angles to each other).

This means that in order for work to be done, an object must be moved a distance d by a force
F', such that there is some non-zero component of the force in the direction of the
displacement. Work is calculated as:

W =F . Azxcos#. (23.1)
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23.2 CHAPTER 23. WORK, ENERGY AND POWER - GRADE 12

where F' is the applied force, Az is the displacement of the object and 6 is the angle between
the applied force and the direction of motion.

Fcost

Figure 23.1: The force F' causes the object to be displaced by Ax at angle 6.

It is very important to note that for work to be done there must be a component of the applied
force in the direction of motion. Forces perpendicular to the direction of motion do no work.

For example work is done on the object in Figure 23.2,

(a) (b)

Figure 23.2: (a) The force F causes the object to be displaced by Az in the same direction as
the force. 8 = 180° and cos@ = 1. Work is done in this situation. (b) A force F is applied to
the object. The object is displaced by Ay at right angles to the force. § = 90° and cosf = 0.
Work is not done in this situation.

Activity :: Investigation : Is work done?

Decide whether on not work is done in the following situations. Remember that
for work to be done a force must be applied in the direction of motion and there
must be a displacement. Give reasons for your answer.

1. Max applies a force to a wall and becomes tired.
2. A book falls off a table and free falls to the ground.
3. A rocket accelerates through space.

4. A waiter carries a tray full of meals above his head by one arm straight across
the room at constant speed. (Careful! This is a very difficult question.)
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Important: The Meaning of 6 The angle 6 is the angle between the force vector and the
displacement vector. In the following situations, 8 = 0°.

b2
X! =< <3

Ax

As with all physical quantities, work must have units. Following from the definition, work is
measured in N-m. The name given to this combination of S.I. units is the joule (symbol J).

Definition: Joule
1 joule is the work done when an object is moved 1 m under the application of a force of
1 N in the direction of motion.

The work done by an object can be positive or negative. Since force (Fj) and displacement (s)
are both vectors, the result of the above equation depends on their directions:

e If Fj acts in the same direction as the motion then positive work is being done. In this
case the object on which the force is applied gains energy.

e If the direction of motion and F| are opposite, then negative work is being done. This
means that energy is transferred in the opposite direction. For example, if you try to push
a car uphill by applying a force up the slope and instead the car rolls down the hill you
are doing negative work on the car. Alternatively, the car is doing positive work on you!

Important: The everyday use of the word "work” differs from the physics use. In physics,
only the component of the applied force that is parallel to the motion does work on an
object. So, for example, a person holding up a heavy book does no work on the book.

Worked Example 149: Calculating Work Done |

Question: If you push a box 20 m forward by applying a force of 15 N in the
forward direction, what is the work you have done on the box?

Answer

Step 1 : Analyse the question to determine what information is provided

e The force applied is F’=15 N.

e The distance moved is s=20 m.

e The applied force and distance moved are in the same direction. Therefore,
F=15 N.

These quantities are all in the correct units, so no unit conversions are required.
Step 2 : Analyse the question to determine what is being asked

o We are asked to find the work done on the box. We know from the definition
that work done is W = F”s
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Step 3 : Next we substitute the values and calculate the work done

w = F‘HS
= (15 N)(20 m)
= 300J
Remember that the answer must be positive as the applied force and the motion

are in the same direction (forwards). In this case, you (the pusher) lose energy,
while the box gains energy.

Worked Example 150: Calculating Work Done 11

Question: What is the work done by you on a car, if you try to push the car up a
hill by applying a force of 40 N directed up the slope, but it slides downhill 30 cm?
Answer

Step 1 : Analyse the question to determine what information is provided

e The force applied is F=40 N

e The distance moved is s=30 cm. This is expressed in the wrong units so we
must convert to the proper S.I. units (meters):

100cm = 1m

1
lem = —m
100

1
. 1 p— _—
.30 x 1em 30><100m

30
—m
100
= 0,3m

e The applied force and distance moved are in opposite directions. Therefore, if
we take s=0.3 m, then F||:—40 N.

Step 2 : Analyse the question to determine what is being asked

e We are asked to find the work done on the car by you. We know that work
doneis W = Fs

Step 3 : Substitute the values and calculate the work done
Again we have the applied force and the distance moved so we can proceed with
calculating the work done:

w = FHS
(—40N)(0.3m)
= —12J

Note that the answer must be negative as the applied force and the motion are in
opposite directions. In this case the car does work on the person trying to push.

What happens when the applied force and the motion are not parallel? If there is an angle
between the direction of motion and the applied force then to determine the work done we
have to calculate the component of the applied force parallel to the direction of motion. Note
that this means a force perpendicular to the direction of motion can do no work.
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x Worked Example 151: Calculating Work Done I

Question: Calculate the work done on a box, if it is pulled 5 m along the ground
by applying a force of F=10 N at an angle of 60° to the horizontal.

Answer
Step 1 : Analyse the question to determine what information is provided

e The force applied is F=10 N
e The distance moved is s=5 m along the ground
e The angle between the applied force and the motion is 60°
These quantities are in the correct units so we do not need to perform any unit

conversions.
Step 2 : Analyse the question to determine what is being asked

o We are asked to find the work done on the box.

Step 3 : Calculate the component of the applied force in the direction of
motion

Since the force and the motion are not in the same direction, we must first
calculate the component of the force in the direction of the motion.

From the force diagram we see that the component of the applied force parallel to
the ground is

F| = F-cos(60°)
= 10N cos(60°)
= 5N

Step 4 : Substitute and calculate the work done
Now we can calculate the work done on the box:

W = F”S
= (6N)(5m)
= 25J

Note that the answer is positive as the component of the force F) is in the same
direction as the motion.

? Exercise: Work
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1. A 10 N force is applied to push a block across a friction free surface for a
displacement of 5.0 m to the right. The block has a weight of 20 N.
Determine the work done by the following forces: normal force, weight,
applied force.

N
!

F app

Iy 1
2. A 10 N frictional force slows a moving block to a stop after a displacement of
5.0 m to the right. The block has a weight of 20 N. Determine the work done

by the following forces: normal force, weight, frictional force.
'

Ffriction -«

A
3. A 10 N force is applied to push a block across a frictional surface at constant
speed for a displacement of 5.0 m to the right. The block has a weight of
20 N and the frictional force is 10 N. Determine the work done by the

following forces: normal force, weight, frictional force.
ol

Ffriction -~ > Fapp

Fy 1
4. A 20 N object is sliding at constant speed across a friction free surface for a

displacement of 5 m to the right. Determine if there is any work done.
il

Fy 1
5. A 20 N object is pulled upward at constant speed by a 20 N force for a

vertical displacement of 5 m. Determine if there is any work done.
i

Iy 1

6. Before beginning its descent, a roller coaster is always pulled up the first hill to
a high initial height. Work is done on the roller coaster to achieve this initial
height. A coaster designer is considering three different incline angles of the
hill at which to drag the 2 000 kg car train to the top of the 60 m high hill. In
each case, the force applied to the car will be applied parallel to the hill. Her
critical question is: which angle would require the least work? Analyze the
data, determine the work done in each case, and answer this critical question.

[ Angle of Incline | Applied Force | Distance | Work |

35° 1.1 x 10N 100 m
45° 1.3 x 10*N 90 m
55° 1.5 x 10*N 80 m

7. Big Bertha carries a 150 N suitcase up four flights of stairs (a total height of
12 m) and then pushes it with a horizontal force of 60 N at a constant speed
of 0.25 m-s~! for a horizontal distance of 50 m on a frictionless surface. How
much work does Big Bertha do on the suitcase during this entire trip?
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8. A mother pushes down on a pram with a force of 50 N at an angle of 30°.
The pram is moving on a frictionless surface. If the mother pushes the pram
for a horizontal distance of 30 m, how much does she do on the pram?

F app

I

9. How much work is done by an applied force to raise a 2 000 N lift 5 floors
vertically at a constant speed? Each floor is 5 m high.

10. A student with a mass of 60 kg runs up three flights of stairs in 15 s, covering
a vertical distance of 10 m. Determine the amount of work done by the
student to elevate her body to this height. Assume that her speed is constant.

11. (NOTE TO SELF: exercises are needed.)

23.3 Energy

23.3.1 External and Internal Forces

In Grade 10, you saw that mechanical energy was conserved in the absence of external forces.
It is important to know whether a force is an internal force or an external force, because this is
related to whether the force can change an object’s total mechanical energy when it does work
upon an object.

Activity :: Investigations : External Forces
(NOTE TO SELF: need an activity that helps the learner investigate how
energy is lost when external forces do work on an object.)

When an external force (for example friction, air resistance, applied force) does work on an
object, the total mechanical energy (KE + PE) of that object changes. If positive work is done,
then the object will gain energy. If negative work is done, then the object will lose energy. The
gain or loss in energy can be in the form of potential energy, kinetic energy, or both. However,
the work which is done is equal to the change in mechanical energy of the object.

Activity :: Investigation : Internal Forces and Energy Conservation
(NOTE TO SELF: need an activity that helps the learner investigate how
energy changes form when an internal force does work on an object.)
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When an internal force does work on an object by an (for example, gravitational and spring
forces), the total mechanical energy (KE + PE) of that object remains constant but the
object's energy can change form. For example, as an object falls in a gravitational field from a
high elevation to a lower elevation, some of the object’s potential energy is changed into
kinetic energy. However, the sum of the kinetic and potential energies remain constant. When
the only forces doing work are internal forces, energy changes forms - from kinetic to potential
(or vice versa); yet the total amount of mechanical is conserved.

23.3.2 Capacity to do Work

Energy is the capacity to do work. When positive work is done on an object, the system doing
the work loses energy. In fact, the energy lost by a system is exactly equal to the work
done by the system. An object with larger potential energy has a greater capacity to do work.

Worked Example 152: Work Done on a System

Question: Show that a hammer of mass 2 kg does more work when dropped from
a height of 10 m than when dropped from a height of 5 m. Confirm that the
hammer has a greater potential energy at 10 m than at 5 m.

Answer

Step 5 : Determine what is given and what is required

We are given:

e the mass of the hammer, m =2 kg
e height 1, h;=10m
e height 2, ho=b m

We are required to show that the hammer does more work when dropped from h;
than from hy. We are also required to confirm that the hammer has a greater
potential energy at 10 m than at 5 m.

Step 6 : Determine how to approach the problem

1. Calculate the work done by the hammer, W7, when dropped from h; using:
Wi =Fy-hi.

2. Calculate the work done by the hammer, W5, when dropped from ho using:
Wo = Fy - ho.

3. Compare W7 and W,
4. Calculate potential energy at h; and ho and compare using:

PE=m-g-h. (23.2)

Step 7 : Calculate Wy

Wi = Fy-hy
= m-g-h
= (2kg)(9.8m-s ?)(10m)
= 1967

Step 8 : Calculate W,

Wy = Fy-ho
m-g-ho
= (2kg)(9.8m-s7%)(5m)
= 98]
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Step 9 : Compare W; and W,

We have W1=196 J and W5=98 J. W1 > W5 as required.
Step 10 : Calculate potential energy

From 23.2, we see that:

PE = h

3

.g.
-h

|
B!

|
S

This means that the potential energy is equal to the work done. Therefore,
PFE, > PE>, because W7 > Whs.

This leads us to the work-energy theorem.

Definition: Work-Energy Theorem
The work-energy theorem states that the work done on an object is equal to the change in

its kinetic energy:
W =AKFE = KE; — KE;

The work-energy theorem is another example of the conservation of energy which you saw in
Grade 10.

x Worked Example 153: Work-Energy Theorem

Question: A ball of mass 1 kg is dropped from a height of 10 m. Calculate the
work done on the ball at the point it hits the ground assuming that there is no air
resistance?

Answer

Step 1 : Determine what is given and what is required

We are given:

e mass of the ball: m=1 kg
e initial height of the ball: h;=10 m
o final height of the ball: Ay=0 m

We are required to determine the work done on the ball as it hits the ground.
Step 2 : Determine how to approach the problem

The ball is falling freely, so energy is conserved. We know that the work done is
equal to the difference in kinetic energy. The ball has no kinetic energy at the
moment it is dropped, because it is stationary. When the ball hits the ground, all
the ball’s potential energy is converted to kinetic energy.

Step 3 : Determine the ball’s potential energy at h;

PE = m-g-h
(1kg)(9,8m -5 2)(10m)
= 98J

Step 4 : Determine the work done on the ball

The ball had 98 J of potential energy when it was released and 0 J of kinetic
energy. When the ball hit the ground, it had 0 J of potential energy and 98 J of
kinetic energy. Therefore K ;=0 J and K E;=98 J.
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From the work-energy theorem:

W = AKE
= KE;— KE;
= 98J-0J
98.J

Step 5 : Write the final answer
98 J of work was done on the ball.

Worked Example 154: Work-Energy Theorem 2

Question: The driver of a 1 000 kg car traveling at a speed of 16,7 m-s~! applies
the car’s brakes when he sees a red robot. The car’s brakes provide a frictional
force of 8000 N. Determine the stopping distance of the car.

Answer

Step 1 : Determine what is given and what is required

We are given:

e mass of the car: m=1 000 kg

o speed of the car: v=16,7 m-s~!

o frictional force of brakes: F'=8 000 N

We are required to determine the stopping distance of the car.

Step 2 : Determine how to approach the problem

We apply the work-energy theorem. We know that all the car's kinetic energy is
lost to friction. Therefore, the change in the car’s kinetic energy is equal to the
work done by the frictional force of the car's brakes.

Therefore, we first need to determine the car's kinetic energy at the moment of
braking using: .

KE = =mv?
2

This energy is equal to the work done by the brakes. We have the force applied by
the brakes, and we can use:
W=F-d

to determine the stopping distance.
Step 3 : Determine the kinetic energy of the car

KE = Emv

1
5(1 000 kg)(16,7m -s~1)?
= 139445]

Step 4 : Determine the work done
Assume the stopping distance is dy. Then the work done is:

W=F-d
= (=8000N)(do)

The force has a negative sign because it acts in a direction opposite to the
direction of motion.

Step 5 : Apply the work-enemy theorem

The change in kinetic energy is equal to the work done.
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AKE = W
KE;—KE; = (—8000N)(do)
0J—139445] = (—8000N)(do)
gy~ 139445
' 8 000N
= 174m

Step 6 : Write the final answer
The car stops in 17,4 m.

Important: A force only does work on an object for the time that it is in contact with the
object. For example, a person pushing a trolley does work on the trolley, but the road does
no work on the tyres of a car if they turn without slipping (the force is not applied over any
distance because a different piece of tyre touches the road every instant.

Important: Energy Conservation

In the absence of friction, the work done on an object by a system is equal to the energy
gained by the object.
Work Done = Energy Transferred

In the presence of friction, only some of the energy lost by the system is transferred to useful
energy. The rest is lost to friction.

Total Work Done = Useful Work Done + Work Done Against Friction

In the example of a falling mass the potential energy is known as gravitational potential energy
as it is the gravitational force exerted by the earth which causes the mass to accelerate towards
the ground. The gravitational field of the earth is what does the work in this case.

Another example is a rubber-band. In order to stretch a rubber-band we have to do work on it.
This means we transfer energy to the rubber-band and it gains potential energy. This potential
energy is called elastic potential energy. Once released, the rubber-band begins to move and
elastic potential energy is transferred into kinetic energy.

Extension: Other forms of Potential Energy

1. elastic potential energy - potential energy is stored in a compressed or
extended spring or rubber band. This potential energy is calculated by:

1
—ka?
2
where k is a constant that is a measure of the stiffness of the spring or rubber

band and x is the extension of the spring or rubber band.

2. Chemical potential energy is related to the making and breaking of chemical
bonds. For example, a battery converts chemical energy into electrical energy.

3. The electrical potential energy of an electrically charged object is defined as
the work that must be done to move it from an infinite distance away to its
present location, in the absence of any non-electrical forces on the object.
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This energy is non-zero if there is another electrically charged object nearby
otherwise it is given by:
Q192
d
where k is Coulomb’s constant. For example, an electric motor lifting an
elevator converts electrical energy into gravitational potential energy.

4. Nuclear energy is the energy released when the nucleus of an atom is split or
fused. A nuclear reactor converts nuclear energy into heat.

Some of these forms of energy will be studied in later chapters.

Activity :: Investigation : Energy Resources

Energy can be taken from almost anywhere. Power plants use many different
types of energy sources, including oil, coal, nuclear, biomass (organic gases), wind,
solar, geothermal (the heat from the earth’s rocks is very hot underground and is
used to turn water to steam), tidal and hydroelectric (waterfalls). Most power
stations work by using steam to turn turbines which then drive generators and
create an electric current.

Most of these sources are dependant upon the sun's energy, because without it
we would not have weather for wind and tides. The sun is also responsible for
growing plants which decompose into fossil fuels like oil and coal. All these sources
can be put under 2 headings, renewable and non-renewable. Renewable sources are
sources which will not run out, like solar energy and wind power. Non-renewable
sources are ones which will run out eventually, like oil and coal.

It is important that we learn to appreciate conservation in situations like this.
The planet has a number of linked systems and if we don’t appreciate the
long-term consequences of our actions we run the risk of doing damage now that
we will only suffer from in many years time.

Investigate two types of renewable and two types of non-renewable energy
resources, listing advantages and disadvantages of each type. Write up the results
as a short report.

Exercise: Energy

1. Fill in the table with the missing information using the positions of the ball in
the diagram below combined with the work-energy theorem.
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position | KE | PE | v
50 J
30 J

10 J

O T m| O] O] @™ >

2. A falling ball hits the ground at 10 m-s~! in a vacuum. Would the speed of
the ball be increased or decreased if air resistance were taken into account.
Discuss using the work-energy theorem.

3. (NOTE TO SELF: Exercises are needed.)

23.4 Power

Now that we understand the relationship between work and energy, we are ready to look at a
quantity that defines how long it takes for a certain amount of work to be done. For example,
a mother pushing a trolley full of groceries can take 30 s or 60 s to push the trolley down an
aisle. She does the same amount of work, but takes a different length of time. We use the idea
of power to describe the rate at which work is done.

Definition: Power
Power is defined as the rate at which work is done or the rate at which energy is expended.
The mathematical definition for power is:

P=F-v (23.3)

(23.3) is easily derived from the definition of work. We know that:
W=F-d.
However, power is defined as the rate at which work is done. Therefore,

AW

This can be written as:

AW
At
A(F - d)
At
Ad

At
= F.v

The unit of power is watt (symbol W).

Activity :: Investigation : Watt
Show that the W is equivalent to J - s~ 1.
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The unit watt is named after Scottish inventor and engineer James Watt (19
January 1736 - 19 August 1819) whose improvements to the steam engine were
fundamental to the Industrial Revolution. A key feature of it was that it
brought the engine out of the remote coal fields into factories.

Activity :: Research Project : James Watt
Write a short report 5 pages on the life of James Watt describing his many
other inventions.

Historically, the horsepower (symbol hp) was the unit used to describe the
power delivered by a machine. One horsepower is equivalent to approximately
750 W. The horsepower is sometimes used in the motor industry to describe
the power output of an engine. Incidentally, the horsepower was derived by
James Watt to give an indication of the power of his steam engine in terms of
the power of a horse, which was what most people used to for example, turn a
mill wheel.

Worked Example 155: Power Calculation 1

Question: Calculate the power required for a force of 10 N applied to move a
10 kg box at a speed of 1 ms over a frictionless surface.

Answer

Step 1 : Determine what is given and what is required.

We are given:

e we are given the force, F=10 N

e we are given the speed, v=1 m-s~!

We are required to calculate the power required.
Step 2 : Draw a force diagram

F
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Step 3 : Determine how to approach the problem

From the force diagram, we see that the weight of the box is acting at right angles
to the direction of motion. The weight does not contribute to the work done and
does not contribute to the power calculation.

We can therefore calculate power from:
P=F-v

Step 4 : Calculate the power required

P = F-v
= (10N)(1m-s™1)
10W

Step 5 : Write the final answer
10 W of power are required for a force of 10 N to move a 10 kg box at a speed of
1 ms over a frictionless surface.

Machines are designed and built to do work on objects. All machines usually have a power
rating. The power rating indicates the rate at which that machine can do work upon other
objects.

A car engine is an example of a machine which is given a power rating. The power rating
relates to how rapidly the car can accelerate. Suppose that a 50 kW engine could accelerate
the car from 0 km - hr=! to 60km - hr~! in 16 s. Then a car with four times the power rating
(i.e. 200 kW) could do the same amount of work in a quarter of the time. That is, a 200 kW
engine could accelerate the same car from 0 km - hr=! to 60km - hr=! in 4 s.

Worked Example 156: Power Calculation 2

Question: A forklift lifts a crate of mass 100 kg at a constant velocity to a height
of 8 m over a time of 4 s. The forklift then holds the crate in place for 20 s.
Calculate how much power the forklift exerts in lifting the crate? How much power
does the forklift exert in holding the crate in place?

Answer

Step 1 : Determine what is given and what is required

We are given:

e mass of crate: m=100 kg

height that crate is raised: h=8 m
e time taken to raise crate: ¢,=4 s
e time that crate is held in place: t;=20 s

We are required to calculate the power exerted.
Step 2 : Determine how to approach the problem

We can use: A
x
P=F—
At
to calculate power. The force required to raise the crate is equal to the weight of
the crate.

Step 3 : Calculate the power required to raise the crate
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Az
p = =2
At
— megRt
B At
8
- (100kg)(9,8m-s_2)4—r§
= 1960W

Step 4 : Calculate the power required to hold the crate in place

While the crate is being held in place, there is no displacement. This means there
is no work done on the crate and therefore there is no power exerted.

Step 5 : Write the final answer

1960 W of power is exerted to raise the crate and no power is exerted to hold the
crate in place.

Activity :: Experiment : Simple measurements of human power

You can perform various physical activities, for example lifting measured
weights or climbing a flight of stairs to estimate your output power, using a stop
watch. Note: the human body is not very efficient in these activities, so your
actual power will be much greater than estimated here.

? Exercise: Power

°® 1. [IEB 2005/11 HG] Which of the following is equivalent to the Sl unit of power:
A V-A
B V.A-!
C kg-m-s!

D kg -m-s 2

2. Two students, Bill and Bob, are in the weight lifting room of their local gum.
Bill lifts the 50 kg barbell over his head 10 times in one minute while Bob lifts
the 50 kg barbell over his head 10 times in 10 seconds. Who does the most
work? Who delivers the most power? Explain your answers.

3. Jack and Jill ran up the hill. Jack is twice as massive as Jill; yet Jill ascended
the same distance in half the time. Who did the most work? Who delivered
the most power? Explain your answers.

4. Alex (mass 60 kg) is training for the Comrades Marathon. Part of Alex's
training schedule involves push-ups. Alex does his push-ups by applying a
force to elevate his center-of-mass by 20 cm. Determine the number of
push-ups that Alex must do in order to do 10 J of work. If Alex does all this
work in 60 s, then determine Alex's power.

5. When doing a chin-up, a physics student lifts her 40 kg body a distance of
0.25 m in 2's. What is the power delivered by the student’s biceps?

6. The unit of power that is used on a monthly electricity account is
kilowatt-hours (symbol kWh). This is a unit of energy delivered by the flow of
| kW of electricity for 1 hour. Show how many joules of energy you get when
you buy 1 kWh of electricity.
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7. An escalator is used to move 20 passengers every minute from the first floor
of a shopping mall to the second. The second floor is located 5-meters above
the first floor. The average passenger's mass is 70 kg. Determine the power
requirement of the escalator in order to move this number of passengers in
this amount of time.

8. (NOTE TO SELF: need a worked example - for example the minimum power
required of an electric motor to pump water from a borehole of a particular
depth at a particular rate)

9. (NOTE TO SELF: need a worked example -for example the power of different
kinds of cars operating under different conditions.)

10. (NOTE TO SELF: Some exercises are needed.)

23.5 Important Equations and Quantities

Units

Quantity Symbol | Unit S.1. Units Direction
velocity b — o or m.s ' v
momentum 7 — | B2 or kgom.sT! v
energy E J E‘%"Z or kg.m?s7? —
Work W J Nm or kgm?.s—2 —
Kinetic Energy Ex J N.m or kgm?.s7? —
Potential Energy Ep J Nm or kgm?.s2 —
Mechanical Energy U J N.m or kgm?.s7? —

Table 23.1: Units commonly used in Collisions and Explosions

Momentum:
p=mv (23.4)
Kinetic energy:
1
E), = §m172 (23.5)

Principle of Conservation of Energy: Energy is never created nor destroyed, but is merely
transformed from one form to another.

Conservation of Mechanical Energy: In the absence of friction, the total mechanical energy
of an object is conserved.

When a force moves in the direction along which it acts, work is done.
Work is the process of converting energy.

Energy is the ability to do work.

23.6 End of Chapter Exercises

1. The force vs. displacement graph shows the amount of force applied to an object by
three different people. Abdul applies force to the object for the first 4 m of its
displacement, Beth applies force from the 4 m point to the 6 m point, and Charles
applies force from the 6 m point to the 8 m point. Calculate the work done by each
person on the object? Which of the three does the most work on the object?

529



23.6 CHAPTER 23. WORK, ENERGY AND POWER - GRADE 12

Charles

2. How much work does a person do in pushing a shopping trolley with a force of 200 N
over a distance of 80 m in the direction of the force?

3. How much work does the force of gravity do in pulling a 20 kg box down a 45°
frictionless inclined plane of length 18 m?

4. [IEB 2001/11 HG1] Of which one of the following quantities is kg.m?.s™3 the base S.I.
unit?

A Energy
B Force
C Power
D Momentum
5. [IEB 2003/11 HG1] A motor is used to raise a mass m through a vertical height h in time

t.
What is the power of the motor while doing this?

A mght

mgh
B t

mgt
C h

D At

mg

6. [IEB 2002/11 HG1] An electric motor lifts a load of mass M vertically through a height h
at a constant speed v. Which of the following expressions can be used to correctly
calculate the power transferred by the motor to the load while it is lifted at a constant
speed?

A Mgh
B Mgh+ iMv2
C Mgv

D Mgv+1 Mﬁ'g

7. [IEB 2001/11 HG1] An escalator is a moving staircase that is powered by an electric
motor. People are lifted up the escalator at a constant speed of v through a vertical
height h.

What is the energy gained by a person of mass m standing on the escalator when he is
lifted from the bottom to the top?
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A mgh
B mgh sin 6
mgh
C ==
sin 6

1,...2
D2mv

8. [IEB 2003/11 HGI] In which of the following situations is there no work done on the
object?

A An apple falls to the ground.
B A brick is lifted from the ground to the top of a building.
C A car slows down to a stop.

D A box moves at constant velocity across a frictionless horizontal surface.

9. (NOTE TO SELF: exercises are needed.)
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